
Ervwrq Froohjh
Ghsduwphqw ri Hfrqrplfv

Plfurhfrqrplfv LLL 0 Ghflvlrq dqg Jdph Wkhru|
HF :35 0 Dxwxpq 4<<9

Surihvvru Z1 Ehqwoh| PdfOhrg
Fduqh| Kdoo 579
R!fh Krxuv= Wxhvgd|v 5=63sp 0 7=33sp ru e| dssrlqwphqw1

Hydoxdwlrq=

41 63( 0 Plgwhup H{dp= Rfwrehu 4:/ 4<<91

51 53( 0 Sureohp Vhwv 0 dvvljqhg hyhu| zhhn1

61 83( 0 Ilqdo H{dp1

Uhdglqj Olvw

Errnv= +Rq uhvhuyh lq R*Qhlo oleudu|,
Vdydjh/ Ohrqdug/ 4<:5/ Wkh Irxqgdwlrqv ri Vwdwlvwlfv/ Gryhu Sxeolfdwlrqv/ Qhz

\run1 Wklv lv deeuhyldwhg V1
Pdv0Frohoo/ D1/ P1 Zklqvwrq dqg M1 Juhhq/ 4<<8/ Plfurhfrqrplf Wkhru|/ R{irug

Xqlyhuvlw| Suhvv1 Wklv lv deeuhyldwhg PZJ1
Gldprqg/ S1 dqg P1 Urwkvfklog/ +hglwruv, 4<;</ Xqfhuwdlqw| lq Hfrqrplfv/ Dfd0

ghplf Suhvv1 Wklv lv deeuhyldwhg GU1
Ixghqehuj/ Guhz dqg Mhdq Wluroh/ 4<<4/ Jdph Wkhru|/ Wkh PLW Suhvv/ Fdp0

eulgjh/ PD1 Wklv lv deeuhyldwhg GW1
P|huvrq/ Urjhu E1/ 4<<4/ Jdph Wkhru|/ Kduydug Xqlyhuvlw| Suhvv/ Fdpeulgjh/

PD1 Wklv lv deeuhyldwhg P1

41 Fkrlfh xqghu Xqfhuwdlqw|

41 V 0 fkdswhuv 40 81

51 PZJ 0 fkdswhu 91

61 GU 0 fkdswhuv 6/ 71

71 P 0 fkdswhu 41

81 Pdfklqd/ P1/ 4<;:/ �Fkrlfh xqghu Xqfhuwdlqw|= Sureohpv Vroyhg dqg Xq0
vroyhg/� Wkh Mrxuqdo ri Hfrqrplf Shuvshfwlyhv/ 4/ 45404871

51 Pxowl0shuvrq ghflvlrq wkhru|= Wkh gh�qlwlrq ri d jdph

41 PZJ 0 fkdswhu :1

51 IW 0 fkdswhu 414

61 P 0 fkdswhu 51



61 Qdvk Htxloleulxp= Gh�qlwlrq dqg h{lvwhqfh

41 PZJ 0 fkdswhu ;1

51 IW 0 Vhfwlrqv 415/ 416/ 51

61 P 0 fkdswhu 61

71 Uhshdwhg Jdphv= Wkh iron wkhruhp dqg vxssruwlqj frrshudwlrq

41 PZJ 0 fkdswhuv </ 451

51 IW 0 fkdswhu 81

61 P 0 fkdswhu :1

81 Edujdlqlqj

41 PZJ 0 Fkdswhu <1D/ fkdswhu 551

51 P 0 Fkdswhu ;1

91 Dssolfdwlrqv wr sureohpv ri vljqdoolqj/ vfuhhqlqj dqg prudo kd}dug

41 PZJ 0 fkdswhuv 46/ 471

51 GU 0 fkdswhuv 48 0 431

:1 Dv|pphwulf Lqirupdwlrq dqg Phfkdqlvp Ghvljq

41 PZJ 0 561

51 IW 0 :1

61 P|huvrq/ U1/ 4<:</ �Lqfhqwlyh Frpsdwlelolw| dqg wkh Edujdlqlqj Sureohp/�
Hfrqrphwulfd/ 7:= 940:61
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